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Math Review:   Chapter 3… Adding and Subtracting Decimals
Outcomes:
Students will be expected to

· Use estimation strategies, including

· Front-end estimation

· Compensation

· Rounding 

· Compatible “Friendly” numbers

· Demonstrate an understanding of addition and subtraction of decimals (to the thousandths)  

--------------------------------------------------------------------------------------------------------
Front-end Estimation
Keep the first digit of both numbers and change the rest of the digits to zeros.

Example 1:         3 199  +  2 978
=    3 000  +   2 000







=     5 000
Example 2:
9.961  -  3.457 
=     9.000  -  3.000






=      6 or 6.000

Note: This strategy is NOT always the best since the answers will be lower than the exact.  
Compensation

Used to adjust the estimate to make it closer to the actual answer.  Use front-end estimation first.
Example 1:         3 199  +  2 918
    

Front-end:    3 000  +   2 000  =  5 000
Compensate:  199 that was dropped from 3 199 is close to 200


      918 that was dropped from 2 918 is close to 900

So, 200 + 900 = 1 100
The adjusted answer is 5 000 + 1 100 = 6 100
Example 2:
9.961  -  3.457 


Front-end:     9.000  -  3.000  =  6 or 6.000
Compensate:    0.961 that was dropped from 9.961 is close to 1 whole (1.000)



        0.457 that was dropped from 3.457 is close to 0.5 (0.500)

So, 1 - 0.5 = 0.5
The adjusted answer is  6  +  0.5  =  6.5

Rounding

Round to the nearest ten, hundred, thousand,... and whole number, tenth, hundredth, thousandth

Example 1:         3 199  +  2 918
    

Round to the nearest 100:  3 199 rounds to 3 200 and 2 918 rounds to 2 900
3 200 + 2 900 = 6 100
Example 2:
9.961  -  3.457 
Round to the nearest tenth: 9.961 rounds to 10.0 and 3.457 rounds to 3.5

10.0 – 3.5 = 6.5
Example 3:
34.589  + 19.889

Round to the nearest whole number:

35 + 20  = 55
Compatible Numbers

Using compatible “friendly” numbers means using numbers close to the given numbers that are easy to compute mentally.

Example 1:          3 199  +  2 918
    

3 000  +   3 000  =  6 000
Example 2:
9.961  -  3.457 




10 – 3.5 = 6.5
Example 3:
323 + 177




325 + 175 =  500
NOTE:
Students can choose either estimation strategy above on the test.  I would encourage students to try to estimate the answer as close to the exact answer as possible.  TEACHER’S TIP:  Use Rounding or Compatible Numbers. 
Adding & Subtracting Decimals

· Pictorially - Base Ten Blocks:
Students can use base ten blocks to represent and regroup decimal

thousandths, hundredths, tenths, and whole numbers.

· Place Value Chart:
The importance of lining up place values when adding and subtracting decimals can be emphasized best when using a place value chart. 
· Line up the decimal:
· Line the numbers up in a column so their decimal points are aligned.

· Tack zeros onto the ends of shorter decimals to keep the digits lined up evenly.

· Move the decimal point directly down into the answer area and add or subtract as usual.
Students can use grid paper to help align the decimal points.  Also, the following links are Great videos to watch on You Tube to help with adding and subtracting decimals:

http://www.youtube.com/watch?v=0heWxHeRbkY
http://www.youtube.com/watch?v=V_pP919626E
· Students must be able to solve a given word problem that involves addition and subtraction of Decimals
Sample Questions:

1. Estimate. Show your work.

(a)   
3 785 + 2 079 

(b) 139 900 – 29 345

2. How do you know that each statement is true?

(a)  
The sum of 3 798 and 2 917 is between 5 000 and 7 000

(b) The difference between 15 735 and 11 004 is greater than 4 000

3. Rachel has 4 000 reward points. Can she cash them in and buy the four products listed below? Explain how you estimated or calculated your answer.

I-pod… 2 500 points


Pizza Coupon… 80 points

Watch… 60 points  



Telescope… 1 100 points

4. Estimate each sum or difference.  Show workings.
(a)   2.88 + 7.12 =
(b)  23.76 – 3.02 =
(c)   14.09 – 11.96 =
5. Calculate using Mental Math. Explain what you did.

(a) 0.97 + 0.88 =
(b) 1.999 – 0.879 =
6. What is the missing number in each equation?

(a)   0.88 + _____ = 1

(b)  _____ -  5.75 = 10

(c)  _____ + 0.5 = 9
7. Calculate:
a)  0.455 + 2.328


b)     3.765 + 7.97
8. Calculate:

a) 5.00 – 3.96



b)    6.097 – 5.976

9. Thomas bought 1.983 kg from a 6 kg block of cheese. How many kg of cheese is left?
10. Using base ten blocks, model 2.347  +  1.584
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  Remember:  

    =  One    



=  One Hundredth





    =  One Tenth


=  One Thousandth
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